
Plusrechnen (bis 10 000)

Aufgabe 1

1. 4 593 + 2 959 =   

2. 1 685 + 1 065 =   

3. 3 759 + 2 869 =   

4. 2 457 + 1 517 =   

5. 3 920 + 2 087 =   

6. 2 658 + 2 478 =   

7. 4 686 + 3 174 =   

8. 3 983 + 3 843 =   

9. 3 057 + 1 396 =   

10. 3 837 + 3 107 =   

Aufgabe 2

1. 4 749 + 1 104 =   

2. 4 314 + 3 468 =   

3. 4 583 + 1 179 =   

4. 2 590 + 1 752 =   

5. 3 426 + 2 761 =   

6. 4 133 + 3 211 =   

7. 4 524 + 2 505 =   

8. 4 858 + 1 794 =   

9. 4 232 + 1 126 =   

10. 3 252 + 2 109 =   

Aufgabe 3

1. 3 405 + 3 241 =   

2. 3 053 + 1 116 =   

3. 2 031 + 1 864 =   

4. 4 490 + 1 017 =   

5. 4 668 + 2 496 =   

6. 3 347 + 1 355 =   

7. 3 997 + 2 206 =   

8. 3 251 + 1 608 =   

9. 2 169 + 1 773 =   

10. 4 321 + 4 228 =   

Aufgabe 4

1. 4 718 + 2 069 =   

2. 4 925 + 1 414 =   

3. 2 749 + 2 386 =   

4. 3 610 + 3 254 =   

5. 4 131 + 2 394 =   

6. 3 369 + 2 257 =   

7. 2 944 + 1 363 =   

8. 3 808 + 3 770 =   

9. 4 925 + 3 750 =   

10. 3 813 + 1 231 =   
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Plusrechnen (bis 10 000)
| ANTWORTEN

Aufgabe 1

1. 4 593 + 2 959 =  7 552

2. 1 685 + 1 065 =  2 750

3. 3 759 + 2 869 =  6 628

4. 2 457 + 1 517 =  3 974

5. 3 920 + 2 087 =  6 007

6. 2 658 + 2 478 =  5 136

7. 4 686 + 3 174 =  7 860

8. 3 983 + 3 843 =  7 826

9. 3 057 + 1 396 =  4 453

10. 3 837 + 3 107 =  6 944

Aufgabe 2

1. 4 749 + 1 104 =  5 853

2. 4 314 + 3 468 =  7 782

3. 4 583 + 1 179 =  5 762

4. 2 590 + 1 752 =  4 342

5. 3 426 + 2 761 =  6 187

6. 4 133 + 3 211 =  7 344

7. 4 524 + 2 505 =  7 029

8. 4 858 + 1 794 =  6 652

9. 4 232 + 1 126 =  5 358

10. 3 252 + 2 109 =  5 361

Aufgabe 3

1. 3 405 + 3 241 =  6 646

2. 3 053 + 1 116 =  4 169

3. 2 031 + 1 864 =  3 895

4. 4 490 + 1 017 =  5 507

5. 4 668 + 2 496 =  7 164

6. 3 347 + 1 355 =  4 702

7. 3 997 + 2 206 =  6 203

8. 3 251 + 1 608 =  4 859

9. 2 169 + 1 773 =  3 942

10. 4 321 + 4 228 =  8 549

Aufgabe 4

1. 4 718 + 2 069 =  6 787

2. 4 925 + 1 414 =  6 339

3. 2 749 + 2 386 =  5 135

4. 3 610 + 3 254 =  6 864

5. 4 131 + 2 394 =  6 525

6. 3 369 + 2 257 =  5 626

7. 2 944 + 1 363 =  4 307

8. 3 808 + 3 770 =  7 578

9. 4 925 + 3 750 =  8 675

10. 3 813 + 1 231 =  5 044
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